MRS R R RN FA— L 1A —T = T ARV MREEH

FFA—LAEER(SAS)

BB | A FHaTE AfEHE BE%E
A—T=oFteLE=—
5/1f B |FFAH—ET>-NGT48 2,500
E—O0—3—&3I=547
5/2| B K1tg%1’ﬁn“n§ﬁ< 1,000
. Zt+EmDDOEL
S| KA o551 2,000
5/4] IK=%31 ??Eﬁ%{%@;ﬂ%&%ﬂﬁﬁﬁ 2,000
SL— LR
A O e 3,500
5/6| & [ENERDT7—HE 500
NURAARTIR
o REHERAKS 3,000
INRARFDTR
5/8] H BASAT 3,300
5/9] A [{KfEH 166
5/10] 602
5/11] K 517
5/12] &K 529
5/13] & 579
SAA XY 5T 55 FE X H
V4 E | Pk OB RER) 1,335
5/15] H 1,061
5/16| H |AfEBH 196
5/17] 526
5/18] K 773
5/19] K 665
5/20] & 570
5/21] & [EB5BFL I VT XRN12022 2,283
5/22] B [EB5BL I VT RN12022 2,974
5/23| H |AfEBH 35
5/24] 619
5/25| K 452
5/26] &K 584
5/27] & 646
5/28] * 889
5/29] H 1,352
5/30| H |AfEBH 109
5/31] % 523
5HET 35,785

1B FAEER: 680 (A ~Uh, REEHZFRC)




